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CONJUNCTIVE TRANSFORMA TIONS

You have learned how single kernel sent2nces can be
changed to form other kinds of sentences which are nc: kernels.
The changes involved moving words about, adding words, and
sometimes replacing words of the kernele with other words., You
perhaps remember that we called such operations gingle~bage
transformatione. You have learned how to change kernel sen-
tences to noasive gentences and how to turn them into various

L AT T A 4 )

kinds of questions. All of these are examples of gingle =bage
transformations.

In English we algo have an entirely differert kind of trans~
formation in which two kernel sentences are transformed into a
single sentence that is not 2 kernel, We will caill this second kind
of iransformation complex or double-bage, A very la number
of the sentences of ovr lenguage are the result of this kind of trans-
formstion. One of the most common exampies ig the conjunctive

transformation.

Young children say things like "The dog chased the car.
The car hit ihe dog. " or"Jane sees Dick, Dick sees Sane. , all
of which are kernel sentences. But you would surely combine
these pairs of kernel sentences into one sentence, You can pro-
bably tkink of many ways to do this. Perhaps the easiest way is
simply to put the two together with a joining word. And is such
a word, X is called s conjunctive word or & conjunction. Con-
junction means joining, and this is what we often go with kernel
gentences, such as those above, that are related 3o that they seern
to belong together, You might say, for instance

The dog chased the car and the car hil the dog.
or
Jane sees Dick and Dick sees Jane.

We could write the linguistic symbols for the kernel sentences

and for the combined sentences tc show what has happened. They
would look like this:

NP+ past+ Vir+ NP2
The dog ed the car

=)
NP + past+ Vir+ NP2

NN

The'car hit the dog

NP+ pagt+ Vir+ NP2+ and+ NP+ past+ Vir+ NP2
N\l

The“dog ed the car at{d the\car hit the dog
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NP+ pres+ Vir+ NP2\

J ;ne s%c?fs/

NP+ pres+ Vir+ NP2
t}ick seds Jane

=)

Np+ prest Vir+ NP2+ apd+ NP+ pres+ ...
Jane sé€sg  Dick aﬂ( Dick sees Jane,

"These are conjunctive transformations of kernel sentencez. W= can
call them gentexce co iong, In both of these transformations the
conjuncticn and was uced. And is called & coordinating conjunction
. because it joins thinge that are alike, such as two kernel sentences. .
R Other coordinating conjunctions are but, or nor, for, yet, and so, 3

- | Exercise 1:

Traneform the following pairs of sentences by joining
b them with appropriaste conjunctions. In other words
pericrm a sentence conjunction,

1. I called Mary
She camne home quickly} =

2. Linds whispered in class :#
The teacher gcolded her

g 3. The car shot forward 2%
Hank stepped on the starter,

4, John became an artist. .
Phillip became a musicias -’»#

5. Helen cocked the dinner.
Barbara washed the dishes =

8. Kennedy defeated Nixom} @
The voie was close,

v o I
2 e
o A

1‘,‘/2@#1_ Loa,
T

We will see you at the dinner,

7. We will see you at the reuniom} -
Z ; 8. Arthur had weighed geventy poumla} __g:?

¥ Yoy
R AY*‘-\
PaALE o R -
Ry o 1)
‘\,.,,;."?Y-“ e .

Bi'l had weighed eighty pounds,

= 8. The wind was blowing hard,
We took the kites to the hill quickly, v

10. The dance has been successful. } _,_...; .

e

We should have another next year
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. 1i. The house was shaking. ..,..:>
We ran outside. -7

Loook now at the sentences which you have just combined
or transformed by a conjunctive trarsformation. Do they all have
the same kind of verba? Are there any Be verbs? Are there any
linking verbs? What other kinde are there? Soms of the sentences
have NP2 after transitive verbs. Which ones? V/hat are the verbs
in § followed by? Some of the sentences have predicates. Which

ones? Doos it scam to malke anv diffarence what kind of sentence
we join with a conjunction” Apparentiy any two kernel sentences

can be joined in this way. If we let § stand for a kernel sertence

and apd stand for any conjunction, we can write the rule for the

trensformation in this way.

5l
} weee> Sl 4+ and+ 52
s2 —

In all of the sentences we have been talking sbout two kernel
sentences have been joined by a conjunction, This is the simplest
of all complex transformations, so simple that it hardly needs
mentioning. It is included simply because it is one way we change
kernel sentences into more complicated sentences,

Subject Cenjunciions

Let us 100k at another kind of conjunctive transformation, a
more complicated one. This will show us still another way by which
kernal gentences beccine more complicated. For instance, would
you say in conversation "'Helen went to Portland yesterday. Bill
went to Poriland yesterday.” or would you say ''Helen and Bill went
to Portland yesterday."? Undoubtedly you would prefer the latter.
The first two sentences are kernel sentences, The third one isn't.
Can you, however, see a relation between 1 2aad 2 and 37

1, Helen want to Portland yesterday.
2. Bill went to Portland yesterday.
3. Helen and Bill went to Portland yezterday.

Do you have 2 feelirg that 3 is the result of something having happened
to 1 and 2? How did 1 and 2 become 3?

In what ways do the two eriginal sentences differ? In what
ways are they slike? Let us construct a branching diagram for
each and bring down the strings which derive from them.

See following page.
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NP A
Aux rd (Tm)

1
T‘a ‘5 ld + D.!,I' :

|
ot [ \m
+ pa + Vig * Dlr > .

i :
elen \363{’ to Porﬂaud yeaterday. ‘

Sentence :

Alix Vérb (Tm)
Avil ” :
L Vin %
{ Vid + Dir "
Bill | went to Portland yesterday. ‘
(Note: W did not break the NP down, since we are concerned with
the entize NP and not with aay one of its parts,) e
Ve can see that both sentences have the same branching diagram and . 5 ‘
the same sting of linguistic symbols. All the elements are alike £

in the diagrams but the subjects in the final kernels are different. ~
- They go back to the same origin in the diagram but are different in |
the final form., Ry
Now what happensd when the two kernel sentences were joined to N
form sentence 37 {0
DN
What has been taken from sentence 2 and placed in sentence 1 ? Tf
Vihat else has been added? “”"""
( A
To dist h between the NP!s in the two sentences let's call the / /

subject NP in Sentence 1, NP: and the subject NP in Sentence 2, NPg,*
Then tha linguistic string for the new gentence will be:

NPq+{and+ N Vid -!-D1r +
el
Helen Id Bl M to Portland yesterday, %

*Don't confuge NP} an 5 with NP and NP2, NP; and NPy are used
simply to show that they come from different sentences. -

A TR e S e My s o
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' Exavrcise 2:

‘ Try o perform this same kind of conjunction with the
following pairs of sentences, Construct the branching , 5
diagramse for each pair and circle in the diagram the
point the unlike elements derive from,

Exemple: Cats eat mice} ==) Cats and rats eat mice.

Rats eat mice
Sentence
% =

Avilxl Vir+ N | akxy ViR NP
| proe : f'ffz
" Nf + prgs\;/Wr + Nf? P+ pr§ A/‘r + h{ | "
; Cats at mice, Rats eat mice. 2
y i, The boy walked in the park. fr,
o‘ The gir! walked in the park. @e

2. Fred flunked the exena,
Mary flunked the exam. =3

3. The deer have egcaped from the zoo,
The elk have ezcaped from the zoc. =5

, 4, The dog rowled all night.)
’ The cat howled all night,j' =)

5. Glenn wag orbiting the earth,
Carpenter was orbiting the earth. %

What two things are true shout each of thess pairs of sentences?

N et . v
"‘¢’- P o e,
« [N Yy, -

1) They ave alike in every respect except the subject NP

2) The clements which are different--the subject NP'g-- -
have the same symbol in the linguistic string and derive
from ths game plcce in the branching diagram,

g , So we can see thst when these two things are true about
- two kernel sentences it is possible to perform & conjunctive trans- o
. formation by adding the NP of onc sientence te the NP of the other i
santence and joining them hy a conjunciion, '
Does it make any difference what the rest of the sentence is, H N

ag long as it is the same in both kernels? Since we are intorested
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only in the NP in this transformation, we can symbolize the two ker=-
nels in this way:

NP, + resy of sentence

NP, + rest of sentence
(wkere res? of_sentence is the same in both casges)

and the rile for the transformation would look like this:

rdeg

NP1 + rest of sentence.

=)NP; + and+ NPj+ rest of sentence !
NPy + rest of sentence

Exercige 3:

On your paper write first the linguistic strings for the
Sentences in each of the following pairs, and then com-
bine them by 2 conjunctive transformation,

Example:

N.Q- pagt + Vid + Dir

The'Ford rcared w,:éhe hill

Ng\': wd. .+ D}r
The Buick roared up the hill
"\7P+ ang + NK + Vid. + Dll"

The Ford\d the Bui k{ed up ‘the hill,

A. 1. ‘The¢ azelas are blooming,
The rhodedendrons are blooming.

=

2, The calico cat =at on the table,
The gingham dog sat on the table,

3. George built a rocket.
Bill built a rocket,

4. The pilot made preparations,
The stewardess made preparations.

3. Jack fell down,
Jill fell down.

6. Tweedledum fought a battle,
Tweedladee fought a battle,




-7~
7. Clars cliinbed thie mountain.
Heidi clinbed the mountain,

8. Buttercups grow wild in Oregon.
Daisies grow wild in Oregon.

B, 1, The class gave him a bad time.
The teacher gave him a bad time.

The owl hag gone to sea.
The puseycat has gone to sea.

IND
«

3, Bud will work in the beanfields in the summer,
Will will work in the beanfields in the summer,

4, Mutt was a comic strip character.
Jeif was a comic sirip character.

5. An elephant had escaped last night.
A tiger had escaped last night.

8. The planes have been going to Eugene.
The trains have been going to Eugene.

7. Breakfast will cost seventy-five cents.
Lunch will cost seventy-five cents.

8. The stars were shining in the sky.
The moon was shining in the sky.

(What happens to the verbs in 2, 4, and 8? Why?
Does anything else happen in 4?)

We have now used a conjunctive transformaiion to combine
two sentences which are alike in every way except in the subject
NP in the sentence strings. We call this process a subject con-

junction.

Verb Conjunctions
re there other kinds of conjunctive transformations? In
what ways are the following pairs of sentences alike? In what

ways are they different?

1. Mary ran.
Mary jumped.

2. The tiger growled.

The tiger roared.

3. The wind whistled in the oak tree.
The wind sang in the oak tree.

4. Sarah washed the dishes.
Sarzah dried the dishes.

- o o = - . - e — e .
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5. The Scouts raised the flag faithfully,
The Scouis ivwered the flag faithfully,

Can you combine each of the pairs to make a third seantence?
Branching diagrams foxr the last pair of sentences should look

: like this:
“ | B Sem.@ce\
| NP ~ >P
1
: . A?x \'ﬁrb
. Aux, Vir+ NP+ Man
T ll
NP + pa!t + Vir + + M:n
-7 t{’
The Scouts raised theflag faithfully,

/ﬂ%e\nce\_v
NP P

Au‘f/\V‘erb
A\’:xl Vt':r'l' NP+ Man
TDL ‘
t
NP * plet  + Vt'r-?w Min
The Scouts \Bw%’ theflag faithfully,

Are the diagrams alike? Are the sentence strings the same?
What words are different? Do these Vir's derive from the same place
in the branching diagram? Since the sentences are alike except for
the verbs can we combine them to form one sertence? For instance
can we say "The Scouts raised and lowered the flag faithfully ? "

V/hat two things did we do in the operation?

We tonk the Vir from the second sentence and joined it by
and to the Vir of the first sentence. We did this because the
Virts are the unlike clements which are involved in the con-
junction., This is another kind of conjunctive transforration,
the verb conjuncticn, If we call the verb in the first sentence Virg
. and the verb In the second, Vir, we can write the linguistic strings
. for the transformction in this way:

2ozl A

N N + ) : e el T iR b s
et '\1\ e e e S " s i | B & L B it it e T AT T it pmpi A T -’x, .‘_A..\..,?.T TN
e et 3 v = v -
- . > p

[
— — p— M ——
o === A =T e =St~
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NP+ agt+ Vtr P2+ Mc,
'rhe Scouts rgz ed tlne flag fa},thfu.ly.

(;"‘pasa T z NP2 + Man
The Scouis lowered the flag fa}thfully

NP + [E’.st + . and'!' ast + Vit 'fs'P‘ + M.m
The Scouts Lsed aml lo:IZed the flag fa1t Yo

e have drawn boxes around the elements involved in the conjunction.

—
amp| V.

Exercise 4:
Construct branching diagrams side by side for the following
pairs of sentences and answer these questions for each pair.

a. Are the diagrams alike?

b. Are the sentence strings alike?

c. What elements are different?

d. Do the unlike elements in the sentences derive from
the same point in the branching diagram ?

e. Is it possible to join the two sentences in a verb con-
junction?

f. If 30 write the transformed sentence and m.a.ke the

linguistic string for it.

1, George was a fool.
' George is a fool,

2. Frannie became a cheer leader,
I'rannie remains a clieer leader,

3. Mitchell became the president,
Mitchell saw the president,

. 4. The swallows dip over the field,
The swallows soar over the field,

5. Wilfred was the lieutenant.
Wilfred hit the lisutenant,

6. The cat has clawed the tree,
The cat has scratched thetree,

& Lawe -nle maddae D
Which sertences were you sble o join by a verb conjunciion?

What was true of the verbs in each of these pairs? What sentences
did you think could not be joined? Were the verbs in each of these
pairs the same kind of verb? ‘That is, did they derive from the
same place in the branching diagram?

e s e - x * AR SEETTE B

N K -~ - N . — e - - PR
D e et i :)’\ TP AR i b T 4 . TR e T e e ettt
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The seniences in 3 have a Vink and 2 Vir, Hence, they do
not derive from the same point and the sentencs can not be trans-
formed sim‘Ply by ioining the itwo unlike words, Theat iz why we
cannot say "Mitchell became and saw the president,”

Now look at sentence 5. What kind of verb do you find? Do
Be verbe and Vir!s derive from the samne point? They can not be
juined, therefore, in a verb conjunction, although the rest of the
two sentences appeary to ke the same, We would not say "Wilfred
wag and hit the liewtenant.,” This car not be done becauge "licutenant
in the first sentence is the NP following a 2e verk and “1isatenant”
in the second sentence is the NP following a iransiiive verb.

Note: In writing the string of symbols for the transformed
semtences in 1, 2, and §, it was necessary to repezt the tense sign
before each verk,

Por instance in 1 we wroke

NP+ :+ Be+ and+ + Bel+
1\,§> Ipast e a_/;zd pres fj« /;sz
(Gebrge was afd i3 a “fool

And in 2 we wrote

NP + as§t+ Vipk + and+ pest ¥ Vlnkft NP

Frannie became: and remained a chéerleader.

V/hy do we repeat the tense sign?

In the transformed string for 6 we wrote:

NP+ pres+ has+[ent Vir+ dj_,et-:j;gdﬁ» NP

The'cat has clawed and scratched the’iree.

Vhy do we write the tense sign only once here? Why do we write
.en before each Vir?

Exercise 5:
Write the linguistic strings for the following pairs of
sentences and transform each pair by a verb con-

junction,
Example:
See following page.
R O e
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She stood in tue hall,
She waited in the hall ,

NP+ past+ Vit Loc\

She stood in the hall

NP+ pasr/‘?}"' Loe

he Wd.l.tf’d in the nau /
>4

NP+ past+ Vit andt pastt+ Vit Loc
i ~

=

She st¥od afd waited in the hall,

1. The guide encouraged the hikers,
The guide instructed the hikers.

2. Flowers wither in the desert,
Flowers die in {he desert.

3. Cerald stole the ring,
{zerald hid the ring.

4, The tourist has caught the salmon,
The tourist has weighed the galmon,

5. The plane bounced above the river,
The plane shook above the river.

6. 'The worm wiggled on the tomato plant,
‘The worm squirmed on the tomaio plant,

7. The plane crashed in the field,
The plane burned in the field,

8. The cowboys were roping the steer,
The cowboys were tying the steer,

Now, let's look at another pair of sentences,
NP+ Vin

Bozo ran

NP + Vtr + NP
Bolzo klcked the' ball
What is aiike in each?

What is different?
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Do you think it would k2 possinhle ¢o pexrform a verb conjunction on
this pair?

Could we, for instonce, say "'Bozo ran and kicked the ball?"
Why is this possible? The verb conjunctiuns we have performed so
far have occurred with pairs of sentences alike in all but one element
and that element in each sentence had the same linguistic symbol
and came from the sarne place in the branching diagram.

Do Vin and Vir + NP branch off from the szame point? (You
may have to construct a branching diagram to answer this question, )
You will find that both Yin and Yir + NP branch from the same point,
V. Therefore, it is possible to combine our ¢wo sentences above in=
to a third;

NP+ Vin¥ apd+ Vir+ NP

Bf:é ran/ and kicked th; ball
joining the elerenis that are different with and, But it is important
to notice that we joined not only the Vin and Vir, bui that we included
the N¥ following the Vir in the conjunction because it aiso branches
f’rom"‘g . In other words we ineluded everything below the commeon
point V,
Still another possibility occurs in sentences like this pair:

David threw the rock.
David hit Geliath,

V/hat eleraents are alike in these fwo sentences?

VWhat are different?

The linguistic strings for this pair of sentences look the same.
NP+ past+ Vir+ NP2
David threw the rock.

NP+ past+ Vir+ NP2
-~
DaVvid hit Goliath,

Al the elements are derived from the same point in the diagram,
although in the sentences the Vir's and the object NP's are dif-
ferent. Therefore the unlike elements may be joined in a verb
transformation. Notice again that the Vir's must keep their NP's
with them in the transformation:

NP+ |pastt Vir+ NP2+ and+ past+ Vir+ NP
David thtew the’rock and hit Goliath,

v T o C - “u Ta & s - - & i = - P

[ - ~ - 5
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Let us take one more example.
NP+ pastt Vin+ NMan

The {lowers grew 4aié’k1y

NP+ pagst+ Vin+ Man
The' flowers bloomed profusely.
The lingristic stringe for these seniences are the same, But in the

sentences themselves the verbs and the manner adverbs are different,
Both must, thercfore, be involved in the conjunciion. We write:

mi'r E%‘}“* Vent_apd ¥ it Viat Ve
The flowers grew qmély and bloomed proady."

Conclusion:

1. Verb conjunctions are g.issible if
a) Two sentences are alike in every respect
ezeept the verb, and

b) The verbs derive from the same point in
the branching diagram.

9, It is necessary to find a common peint from
which both verbs derive, Sometimes this may
be VP and everything below VP wiil thus be included
in the copjunction,

3, Only those parts of the Verb Phraue which are
diifferent in the sentences are involved in the
conjunction. (Remember that sometimes there
will be words in the verb phrase which lock
alike but which may actually be different be-
cause they derive from different points in
the diagram, )

When these conditions exist we can write the following general
rule t2 cover verb transformations. We will use (...) to indicate
the part of the sentence not invelved,

4 ]

oo ¥ VP cee ¥ VP + andt VP2
e L

Exercise 6;

Construct branching diagrams for the following pairs of
sentences. Circle the point in the diagram from which
unlike elements derive, Tien transform the pairs by

vexrb conjunctions,




Example:

Gerry sat at his desk,
Gerry typed at his desk.

N(\P N/ S\VP

Aux/\'ﬁrb (Loc) A|/ }eﬁ) (Loc)

A"%xl /’; AEI G}D

Trlls {\Yi i Tm‘;

P + pa + Vit Léc Np + pa.sst Vi + Loc
1 f:/”/ \ T wnia
Gerry sa at his desk Gerry iyped at hisdesk

Gerry sat and typed at his desk,

A, 1., Rainfell in sheets,
Rain flocoded the fields,
2. The face appeared at the window,
Tre face remained at the window.
3. Smoke rose to the ceiling.
Smoke filled the room,

4, Mac saw the accident Jast night,
Mac reported the accident last night.

N, - w0

Pl
R

3
(9]
L4

Meary was the best actress.
Mary is the best actress.,

6. The Model T stood in the yaxd,
The Model T rusted in the yard,

o WER

B. 1. The car rolled down the hill,
The car stopped in the field,

2. The messenger parked his bicycle,
The messenger went into the building,

3. Roger grew tall,
Roger grew corn,

4, The cat glanced at the canary guiltily,
The cat strolled out nonchalantly,

'- 5. The cook prepared cocoa.
F The cook toasted muffins,

6., Ruff grabbed the bone quickly,
Ruff buried the bone quickly.,
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Conjunctions Formed with Otker Perts of the VP

Object Conjunctions

We have seen that object NP's are included with their
transitive verhs when the {rangitive vertz are involved in a
verb conjunction,

1. Mary pcured the milk. .
Mary cut the cake. 13 = Mary poured the milk and

If the okject NP's are the same in two sentences in which a verb
conjunction is being carried out, what happens?

2. Bridget stuifed o {urkey, .@
Bridget roasted a turk.ey} ?

Bui if only the object NP's are diffevent, what part of the VP is
involved in the conjunction?

5. Mrs, Plushboitom poured coffees ?
Mrs. Plushobottom poured tea, '—?

We can say, then, that there are three possibilities for object
NP?s in forming conjunctive transfermations,

19114 Ny,

1) The object NP!'s can be part of the general VP
conjunction, remaining attached to their Vir's,

o0 Vtr f' NP 2 N\ +
Viryt NP2+ + A 2
e VtI'Z'" NPZ‘}Q X ) Ly | and Vtrz NP

2) The object NP*s of two different verbs may be
the same, They would, then, be part of the
sentence that wasn't involved in the conjunction,
as in the sentences aboui Bridget above, Only
the Viris without the NP's would be included.

coovtrioo
... Virg, .. =%... Vir{ and+ Vipgr ...

3) The object NP!s inay be the only elements that
are Qifferent in a pair of sentences and would
then be aii *hat is involved in the conjunction,
as in 3 above,

oooNP 2“ <4 =¥ 2 R 2
ooolqplga}ﬁ tec ‘P! + and." NPZ

7 anm

Predizate Conjuncticns

/hat part f the sentence string are each of the unlike
elements in the foillowirg pairs of sentences?
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1. Mary Jans will be cheerleader next year,
Mary Jfane will be class secretary next year,

2. The oranges taste sweet,
The oranges taste juicy.

3. His sister was pretty.
His sister was charming.

4. Some people become traitors.
Some peopie become spies,

5. The teen canieen will be in front of the school.
The teen canteen will be across the street.

6. Our house was on the rigii.
Our house was up the hill.

Try to perform a conjunctive transformation on each pair and
then describe what elements are involved in the conjunction, Why
is it possible to perform these transformations?

Are the Pxls in each pair of sentences the same kind of Pr?

Vhat happens when there are two different kinds of Pr in a pair
of sentences which are alike in every other respect? Can you
perform conjunctive transformations on the following pairs by
joining the Prls?

His sister was =iways pretty, \ 0

Hig gister was always a nurse.j' = j

George became enthusiastic, 2
George became = politician, =§

The class was in the bus, ?
‘The class was a model of hehavior, %

VWhy do thess transformations using only the Pris seem un-
grammatical? We can write a2 rule now that shows that when
all the elements in the two sentences are alike excent for +he
Prls, a conjunctive transformation involving both Pr's

can take place if the ’r!s are the same kind,

cosPr. e

,,,.,Pr; ...Prl and hz
Exercige 7:
Transform the following prizs of sentences by
predicate conjunctisns whenever possible,

Example:

The chrysanthemums were yellow, -y, The chrysanthemums
The chirysanthemums were white. 7 = were yellow and white.
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i, The child was quiet yesterday,
The child was thoughtful yesterday.

2. Peter becarne viclert,

Peter became abugive,

3. The giant cactus felt rough.
 The giant cactus felt prickly.

4, Our neighbor is a farmer,
Cur neighbor is brave,

5. The haillway. secemed dark usually.
The hallway seemed damp usually.

6. Thebishop is a hypocrite,
The bishop is a liar,

7. Jonathon remained loyal,
Jonathon remained a friend,

8. Mice have been in the basement,
Mice have heen in the attie,

Adverb Conjunctions—=(Tm), {Man), (Loc), (Dir)

What part of the sentence string are the unlike elernents
in the follc..ing pairs of sentenc:3? Can you pexrform conjunciive
transformations on them?

The {lowers grew rapidly.
The flowers grew luxuriously.

Our grandparents lived peacefully.
Cur grandparents lived happily.

" You will hear from me now.
You will hear from me then.

He had been arrested on Saturday.
He had been arrested on Sunday.

We will fight them in the towns,
We will fight them on the beaches.

We saw them yesterd:y.
We saw them the day before.

Our rockets fiy to the moon.
Our rockets fly to Mars.

Can adverbs of different kinds be joined by a copjunction in a
conjunctive transformation? Can we say

Ouz grandparents lived peacefully and now?
or
We wiil fight them in the towne and on Saturday?




:

The linguistic picture of what happens in an advarb conjunction
' will show that when two sentences are alike in every respect
except for adverbs, and when thoge advarbs are of the same
kind, an adverb comnjunction canr tak=z place,

ooonlp .
...Tmzé eosTmy and¥ Tm,

««s Man :
...Ma.n; = ...Man, and+ Many

:::ﬁﬁ; eeoLic; and+ Locg

Dir
"'Dir;' % se Diry and?t Dir,

L 2 - J

. Exercise 8:
Copy the following pairs of sentences on your paper.,
For each pair list the adverbs and indicate what kind
they are, When possible transform the sentences by
performing adverb conjunctions,

Example:

The Swiss live peacefully in the mouriains.,) %
The Swiss live happily in the mountains, f

‘The Swiss live peacefuliy and bappily in the mountains,

peacefully~-Man
in the mountains-~Loc
| happily~=Man

1. The rats chewed the woodwork noigsily,
The rats chewed the woodwork diligently,
R

2. Weeds grew in the streets.
Weeds grew in the yards,

3. The manager will meet me ‘omorrow,
The manager will meet e the next day.

4, The children ran to the school,
The children ran home,

5. The bell rang ia the tower.
The bell rang all night.

6. The technician removed the appendix carefully.
The technician removed the appendix neatly,
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Exercise 9:

Copy the following pairs of sentences on your paper.,
List the elemeats that are different for each pair,
Indicate what they are in the sentence string. Write
a conjunctive transformation for such pair.

Example:

Larry oiled the Honda.

Larry greased the Honda% -:5 Larry greased and oiled the Hond= i
¥4 T N

greased--Vir
oiled--Vtr

We will be here, o
We will be there} $ We will be here and there.

here=-loc
there~~loc

A, 1, Miss Muffit was eating curds,
Miss Muifit was eating whey,

2, The small boy collected Tiger Swallowtails,
The small boy mounted Tiger Swallowtails.

3, The police followed the trail.
The police caught the criminal,

4, Betsy did her work neatly.
Betsy did her work efficienily,

5. Claude will be Romeo.
Claude will be Hamlet.

6. My dachshund sté.ys in the house,
My dachshund stays in the yard,

7. The doctor has been in.
The doctor has been out.

B. 1. The injured leg turned black,
The injured leg turned blue.

2. Or summer house is white,
Our summer house is yellow,

3. The firetruck roared rapidly down the strest,
The firetruck roared noisily down the street.

4, Geoffrey was a good student in school,
Geoffrey is a succeasful lawyer now,

e o v N
Sy o= .
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5. Joe checks the furnacesat three o'clock,
Joe checks the furnaces at nine o'clock.

6. Otto bromght milk to the hospital.
Otto brought milk to the resiaurant,

7. Jack has worked hard.
Jack has played hard.

Roview Evercise:

On your paper write first the linguistic strings for the
sentences in each pair, Circie the symbols that underlic
the words which are not alike. Finally try to perform

a conjunctive transformation on cach pair, Are there
any which can not be joined in this way? Try to tell
why. )

Ezaxple: j

NP+ pres+ M NP2
Pete M wat thé'gn
@ Pete will water and mow the lawn

‘e

NP +

Tete will mow th {;n J

A, 1, Susan read the note.
Susan destroyed the note,

2. Willy Mays stoie second,
Willy Mays stole third,

3. The Nezperces crossed Idaho,
The Nezperces crossed MonZana,

4, The clown shuffled out,
The c.own waved at the crowd,

5. The breakfast will be ham.,
The breakfast will be eggs.

6. The bear climbed the mourtain,
The bear saw the valley,

7. The boy should have worked beiter,
‘The boy should have felt better.

8. John painted the blarney stone.
Bob painted the blarrey stone,

9. The committee is large,
The committee will be ewricient.
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10, Clespairs has cuine.

B, 1.

2.

9.

10,

e )

Clecpatra has gone.

Teddy Roogeveli became president.
Franklin Roocasevelt hecame president.

The jaguar yawned lazily.
The jaguar stretched lazily.

£ s o Al Lmd
vasey Swung ui€ oa.

Casey hit 2 homerun.

The clerk weighed the package.
The clerk weighed 200 pounds.

The picture must bave beeu quaint,
The picture musi have been amusing,

The comnpany rehearsed The NMutcracker Suite last year.
The company presented The Nutoracter Suite last year,

No ore remained in tk:e streets.
No one remained in the stores.

The army was foilow*ng the Sioux,
The army was attacking the Sioux,

The cactus became dry.
The cactus died,

FDR became president in 1933,
FDR served for four terms.

1.

Remember:

Conjunctive transformations can occur when
sentences are identical in every element but
ore and when the elements which are not
identical derive from the same point in the
branching diagram,

Whole sentences may also be joined,
The elements are joined by means of

coordinating conjunctions (and, but, for, or,
nor, yet, and so.).
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EMBEDDING TRANSFORMA TIONS

In the conjunctive transformations you have seen how
two English kernel sentences can be combined tc make a
more complex sentence. This was done either by joining
entire sentences with conjunctioas or by joining parts of
two sentences, such as the subject NP*s or the verhs. We
are now ready to lcok at still another kind of complex or
double-basge transformation invslving two kernel sentences.

Lock at the following groups of seutences and try to see
in what way they are related. Wkhx! has happened to the first
two sentences in each group to form the thirc senmience?

CONSUMER: The milkmaid carried the pail
SOURCE: The pail was empity.
TRANSFORN: The milkmaid carried tae pail which wag empty.

CONSUMER: I live in the house.
SOURCE: The house is red.
TRANSFORNM: I live in the house which is red.

CONSUMER: He visited Steve.
SOURCE: Steve is friendly.
TRANSFORM: He visited Steve who is friendly.

CONSUMER: The cat hissed.
SOURCE: The cat is angry.
TRANSFORM: The cat which is angry hissed.

CONSUMER: The bicycle cost fifty dollars.
SOURCE: The bicycle is fast.
TRANSFORM: The bicycle which is fast cost fifty dollars.

CONSUMER: The teacher assigned a theme.
SOURCE: The teacher is helpful.
TRANSFORM: The teacker who is helpful assigned a theme.

In every case the second sentence (which we will call the
source sentence) moved into the first sentence (which we will
call the consumer sentence). In a way we can say that the first
sentence consumed the second. We will cail this operation
embedding. It is a kind of transformation. The second sentence
was embedded in the first. The gource was embedded in the
consumer. How did tkis happen?

Liet us notice what kind of sentences all the source sentences
are, What kind of verb dves each have? "/ hat always follows
Be? What kind of Pr do we have in each of the source sen-
tences? What linguistic string of symbols would show the form
of each of these source sentences? All of the source sentences
are of the same type. They are all Be sentences.
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Are all of the consumer seatences of .e same type? Do
they have the same kind of verbs? Is there any part of the con-
sumer sentence which is like the source sentence? Each consumer
sentence has an NP that is the same as the NP in the source sen-
tence. It doesn't seem to matter what kind of sentence the con-
sumer senterce is as long as it has a NP which is the same as the
subject NP in the source sentence.

Look at the transformed sentences in the groups above. Has

tha osAantmwan mankan rhanmeas] 230a Aser wwraes WAl
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in the consumer sentence? What hz.s happened in every case to

the first NP of the source sentence? How do we determine whether
to use who or which to replace the NP? Could it be replaced by
that just ag well?

Exercise 1:
Copy the following sentences and underline the subject
NP!s, After each sentense write the word (who, which,

L

that) which we would use to replace the subject NP,

Example: The car is a racer. {(which)
The girl is my friend. (who)

The boeok is red.

The volcano is dormant.

The dance is crazy.

The soap is fragrant.

The exam was difficult.

The teacher was unreasonable.
The class was unruly.

The child was talented.

The mayor was angry.

10, The team will be victorious.
11, The driver had been careless.
12, The boy is shy.

(-] [ ] [ ]

cooo-qmgn.hoomw

When we replace the first NP with 3vho or which do we
have a sentence or anon sentence? (which was empt,, which
is red, who is his friend, etc.)? Where have the non sentences
beginning with which or who been placed in the consumer sentence
to form the transformed sentence? In every case the non sentence
made from the source was placed immediately after the NP in
the consumer sentence.

In what way is the transformed sentence like the cousumer
sentence? Obviously the transform is like the consumer except
that it is bigger because the source has been fed iato it. Nothing
in the consumer sentence has been replaced.

Exercise 2:

Copy the following sentences and underline the NP

in the conswmer sentence that iz like the NP in%he

source sentence, Then embed the source Sentencc
(the one on the second line) into the sentence on the
first line. V/rite your transformed sentence after
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the double arrow, What do you have to do to the
scurce before rou can embed it?

Examples

The president wore braces.
The ém was paralyzed} ;
The president who was paralyzed wore braces.

A.1l. The milkmaid carried the pail.
The milkmaid is beautiful, =3

2. The men surveyed the hill

The hill is steep. } ‘E%

3. The boy has a nose. }
The nose it large. =

4, ‘The bridge spans the stream.™} %
The bridge 18 long. 3

8. The bridge spans ihe stream,
The stream is wide. =%

B. 1. We watched the fireworks, } =
The fireworks were spectacular

2. Vie fished for trout, }=§

The trout were large

3. Clancy won the match, ::%
Clancy is clever. }

4. The lunch disappeared. } :_-%
The lunch was delicious.

5, He bought a ring. }
The ring is cheap. :%

Exercise 3:

This exercise is the reverse of the preceding ane.
Work back to the two kernel sentences (the source
k2rnel and the consumer kernel) from the following
transiormed sentences. That is, decide what are
the two kernel sentences that produced the result
sentences.

Example:
The man who is conceited won the fight.

CONSUMER: The man won the fight.
SOURCE: The man is conceited.
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The strange:r who is tall is running away,

The fire was burning the forest which was vast.
The dress which was red cost ten dollars.

The war which was long ended.

The man who i funny ruas a store which is little.

We saw the play which was funny.
She mended the vase which was broken.
The rocket which was small carried 2 mouse.

03O0 re Qobwws-

r\ Lruieeaand a lond coailed ale ceemm anal

43¢ aCUNLG @ wav wWaalin Was poisondus,

The man who was nervous drove cautisusly.

oy

In all of the sentences we have worked with so far our
source sentences were of the form NP+ Aux + Be + Adj.
Now let us expand our embedding by trying t» use Be sentences
with the other kinds of Pr. (What are the other kinds?) Thst
is, let us now have source sentences like ''"The boy is outside. *
and "The truck is a jeep.”" Let us try to embed sentences of this
kind in the following exercise.

Exercise 4:

Copy the following senterces. Embed the sentence
on the second line (source) into the sentence on the
first line (consumer) and write the transformed sen-
tence after the double arrow, Uxnderline the part that
has beern embedded.

Example: The boy is big.

A. 1,

The Loy is outsid =% The by who is outside is big,.

The child hit the window,
The child is outside. } =»

The man hires teenagers.
The man is at home,

Y=

I have a book.
The book is upstairs =

The truck runs badly.} é
The truck is a jeep.

We bought the house. } ﬁ
The house is a mansion.

The man seems hapny.™\_,
The man is a father. 5 é

The kite {lew beautifully.} é
The kite is in the tree,

The cat mewed constantly. ‘é
The cat is a Siamese.




3. The woman toured Europe.}
The woman is a ieacher. ﬁ

4., We met the doctor. '} ~
The doctor was here #

5. You must find the basketball, é
The basketball is on the patio.

6. The counselor called Mr. Jones.l. _
Mrs. Jones is an expert. -7

C. List the Pr's in the source sentences in the
exercises above and indicate what kind they are.

; Example: The boy is outside.
outside--adv,

3 Is it possible to write a rule that will say exactly what
N happens when we embed aBe sentence inic another sentence?
\ First we will write the symbols for 2 Bz sentence.

NP+ Aug+ Be+ Pr

How shell we symbolize the consumer sentence? As we
have found out, we really have to know very little about it.
All we have to know is that it has an NP that iz the same as
the subject NP of the source sentence. The consumer can
be any kind of sertence and the NP can be any NP found in
it, Sinco we are interested only in the NP we can symbolize
the sentence in this way:

...NPt00

The three dots before and after the NP of course indicate thzt
we don't really cars what is on either side of the NP of the con-
sumer sentence.

Now what did we do with these two senteances in the embedding
operation?

1. The NP of the source sentence was repiar by who or
which, or by that. -

2. The source sentence was then embedde. in the consumer
sentence right after the NP that was the same in both
sentences.

The result of this operation may be symbolized in this way:

... NPt.., who ox which,
| =§...NP+ § + Aux+ Be+ Pr
P ,

NP2 Aux+ Bet that 2
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What we have talked about 80 far is only the first step in
the double-base transformation of embedding a Be sentence.
What clse can be done? Let's look once more at the trans-
formed sentences of our first example.

1. The milkimaid carried the pail. The milkmaid carried the
pail which was empty.
The pail was empty.

2. 1 live in the house))
L-%,»l live in the house which is red.

The house is red.)r

3. He visited Steve. :
e visited Steve who is friendly.
Steve is friendly,

4, The cat hissed. -
=» The cat which is angry hissed.
The cat is angry

5. The bicycle cost fifty dollars. The bicycle which is fast
= cost fifty dollars,
The bicycle is fast.

8, The teacher assigned a theme. The teacher who i3 helpful

=3 assigned a theme.
The teacher iz helpful. .

Would it be possible to delete some words from these transformed
sentences without changing the meaning? Would the foliowing be
possible?

The milkmaid carried the pail which was empty. ==§
The milkmaid carried the empty pail.

Try to rewrite the transformed seniences above by deleting some
words, What part of the rource sentence remains eibedded in
the new sentences you have written? Wkat kind of Pr!s did you
find in the source sertences? When you wrote your new sen-
tences where did you place the adjective Priz, I. should now

be poesible for you to sce how the adjectives you use in your
everyday sentences came into t..08¢ sSentences, Adjectives

come from source Be sentences which axe embe.da?:%'i‘ > other
sentences.

Exercige 5:

Copy the following seuatencos on your paper., 1} Write a
transform in which you embed the gsource sentexce into
the consumer. (Remember whet you have to change in
the source sentence before you can embed it.) 2) Wrige
a second transform for each in which you delete all of
the embedded source except the adjective Pr. (Where
will the adjective be placed in the new transtorm?)
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A, 1, Jane caught a butterliy.
The butterfly was a Monarch,

2. I am reading a book.
The book ie exciting.

3. The author lost the package.
The package was valusdle,

4, Ink ran on the rug.
The ink is indelible,

5 5. The president was Franklin Roosevelt.
. The president was lame.

" 8, Father has thc ticxets,
The tickets are yellow.

g 7. The class will graduate tomerrow.
The class is large,

) 8. Frannie had crawled into the cave.
: The cave was dark.

B. 1. He threw the wastsbasket at the door,
The wastebagket was emnty.

2. Jack climbed the stairs quietly.
The stairs were steep.

3. You will be taking the course.
The course is difficult.

4, Frenchyr had seen the moon,
The moon was new.

£, The craciers taste strange,
The crackers are stale.

P 6. The officers will plan the party.
. The officere are experienced.

7. 1have been seeing the dentist every week.
The dentist is cheerful.

z 8. He threw the waatebasket at the door.,
E The door was opei.

;& Now look at the following sentences:

‘. CONSUMER: The boy is big.
’ SOURCE: The boy is outside.

e~
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CONSUMER: The raan hires tecnagers.
SOURCE: The man is at home.

CONSUMER: I have the bnok.
SOURCE: The book is inside.

CONSUMER: 1 own the car.
SOURCE: The car is under the carport.

XXPE. A 0.2 _ % _ B 1N Kt Ve e BE R Baw mvnnanar mnam al Alas macccamnn tsmendomsanam
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above?

On your paper write the transforms which result from emvedding
the above source sentences in their consumer sentences.

Nezxt try to delete all the words of the embedded source except
the Pr.

Can we say '"'"The boy outside is big" ?
Can the other adverb Pr's ke embedded in the same way?

In this operation where must the adverb Pr appear in the transformed
sentence ?

Could we say '"'The outside boy is big"?

Exercise 6:

Copy the following pairs of sentences, and transform
them in two ways. 1) Embed the scurce in the consumer,
first chenging the NP to who, which, or that. 2) Delete
all the source except the adverb Pr.

Example:  The ship will sail tomorrow,
‘The ship is in the harbor.

The ship will s2il tomorrow?
The ship is in the harbor, j :>

The ship which is in the harbor will sail tomorrov-
The ship in the harbor will 3ail tomorrow.

1. The coat fits Mary.
“he ceoat is in the closet.

2. The alligator needs food.
The ziligator is in the bathtub,

3. We visgitel the shops.
‘Tky ghops are uplaown,

4. The girl lo-= hs 'shoe.
The girl is in front.
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5. The city sprayed the trees.
The trees are in the park.

6. The soup smells gooa,
The soup is on the stove.

7. Nancy drew the picture.
The picture is on the board.

o MhA nawder adnrndes ad tuina
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The party is on the patio,

9. The book concerns history.
The bock is on the table.

10. He attends the junior high.
. The junior high is on the hill,

We have found that we can embed Pr's which are adjectives
and Pr's which are adverbs in the consumer sentence. What is
the third kind of Pr? Let's look at some sentences with this
kind. ~

The truck rurs badly. =$
The truck is a jeep.

We bought the house.
The nouse iz a mansien,; 7

The man seems happy. %
The man is an artist.

The girl went with the team.\ _a
The girl is a cheerleader. J =7

The book has been lost.
The bock is a biography. %
Copy the pairs of sentences above and embed the Be source
sentence in the consumer sentence, writing your Transform to

the right of the double arrow. What change must you make in
the source before embedding it?

Now try to delete all of the words of the source sentence
except the Pr in this way:

The man who is an artist seems happy_—_-} The man, an artist, see.ns happy.

Do other sentences in the same way. What kind of Pr!'s do these
senténces have? V/here do they go in the Transform? Could they
go before the NP of the consumer sentence? Can we say

The artist man seems happy.
or
We bought the mansion house. ?

)
|
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Exercise 7: o
Copy tke following pairs of sentences and perform the
two kinds of Beembedding, That is, first embed the
entire source sentence, Then delete all of the source
except the Pr.

Example: John went to the meeting}
John is the beatswain, “">

L _ \
John who is the beatswain went to the meeting.'::.;
John, the boatswain, went to the meeting.

1. George is building the house.
George is a carpenter.

2. The girl will help.
The girl ie a secretary.

3. I invited the man to dinner.
The man is a sergeant.

4., He chased the anirnal around the room.
The animal is a hamster.

5. Ve had planted the shrubs.
The shrubs are rhodedendrons.

€., His father set the bone.
Iiis father is a doctor.

7. The Loat won the race last year.
'The boat is a schooner.

8. The play is selling out every night.
The play is a melodrama.

§. The museam bought the picture.
“he picture i3 a Rembrandt,

10. The fault will cause him trouble.
The fault is lying.

We have now seen that there are two kinds of Transforms
which can result from embedding Be sentences in consumer
sentences. First, the entire Be sentence can be embedded.
Second. all of the words of source except the Pr can be
deleted. We found that all three kinds of Pr's can be em-
bedded in this way.

The milkmaid carried the pail which was empty. :é
The milkmaid carried the empty pail. (Adj)




~32«

The boy who ig outside is big. ==y The boy outside is big. (Loc)
The truck which i3 a jeep runs badly. :%
The truck, a jec:, runs badly., (NP)

Is there anything different about the position of the three Pr's in
the Transform? Obviously the Pr's which are adjectives are
placed before the NP and the other two kinds of Pr!s are placed
after the NP, It is inportant to note that when the he result is a
gentence like '"The man, a father, seems happy." we write it
with commas around the NP, the only piece of the source sen=-
tence that now remains, These fcommas corx "espond to the
slight hesitation that surrounds "the father" in speech. (Some-
times this kind of NP is called an appositive. )

Can we now symbolize what happené in the secend kind of
embedding, when only the Pr is left in the result sentence?

Remember that we sy:nbolized the first step in this way:

... NP1, who or which}
| = ... NP+ )\ + Aux+ Be+ Pr
NPy 4+ Aux+ Be+ Pr) - that

Let us symbolize the result in the second step in this way:

who or which
oooNP+ + Aux+ Beﬁ;’ Pr...%...mp“' Prooo
that

L e e R I

Does this take care of <1l the P?*'s that we embedded ic: con-
sumer sentences? Which one wouldn't be accurately described
by this group of symbols? Why? Because we place the adjective

Pr!s before the NP, instead of after the NP, we will have to say
that if Pr= Adj, ‘then there must be one more step. This is nec-
essary sc that we won't produce nonsentences like '"The milkmaid
beautiful carried the paii.’

How do we symbohze thie last step? Remember zhat any
NP---> T¥ N+ N° Therefore the symabol string for ''The
milkmaid carried the pail is:

T+ N+ NO+ past+ Vir+ ’\+ N+ NoO
t

T}a nﬁ\ﬁam Md

Where is the adjective Pr bezutiful placed when it is embedded
in this sentence?

1{-{.- Ad\f“ w-i- pawr+ 'f+ ch
The beautiful milkmaid carried the pail,

ie pail.

P A [ antand




Therefore we gymbolize this {i2al step in this way:
[ e T+ N+ K&+ Adj -:_-.} eeo T+ Adjt N+ NO

Exercise 8: >
Copy the following sentences and perform two kinds of
Be embedding. Firet embed the entire source sentence,
remembering to change tiie subject to who, which, or

that. Then delete all but the Pr. Finally indicate whether

LJ L3 D
the Py is Adj., Adv., or NP. Rememberthat if a Pr

is an Adj it must also go through a third step so that it
will appear in its grammatical position in the sentence.

Example:

L 2

He has found a2 mousae
The mouse is spotted, 3

=5,
He has found 2 mouse which is spotted. ==
He has found a mouse spotted, "-"%
He has found a spotied mouse. {Adj.)

1. The cat purred happily.
The cat is black.

2. Jasper solved the problem.
Jasper is a genius.

3. South High lost the game,
Sovth Zligh is the champion,

4, The boy had the mumps.
The boy was absent.

5. The bagpipers wore kilts.
The bagpipers were here,

6. We painted the bench. .
The bench is in the gardern,

7. We heard the sirens.
The si—ens are loud.

8. The walls tumbled down.
The walls were weak,

9. The boy shouted glecfully.
The boy was happy.

10, My love gave a partridge.
The partridge is in a pear tree.
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In doing the preceding exercise remember two things:

1. When we use whe or which {(or that) to replace the
NP in the first step, who is used to replace a Nhum
and which to replace a a Nnon. That can replace either.

2. A Pr which is an NP is set off by commas when it is
embedded in the consumer in the second step.

EMBEDDING HAVE SENTENCES

There are many kinds of embedding transformations. Maybe
bv now you have begun to see how many posszbmtzes there are
for combining, or tramsforming, kernel sentences io make other
more interesting sentences. We have just looked at one of the
simple kinds of embedding transformations. We will consider
only one more kind at this time. This one will embed kave sen-

- tences into consumer kernels. Look at the following pair of
sentences.

CONSUMER: The cold is bad.
SOURCE: The boy has a cold,

sentence in the same way th.\t we embedded Be sentences in
other kernels? For instance, would you say

The cold which had a cold iz bad?

This is obvioisly not a sentence which any speaker of English
would use. Hut, is it possible to say

The col<; which the boy has is bad, ?

This is a seatence of Englhish, It is the result of embedding
""The boy has a cold.” in "'The cola is tad.” Can you see how
this came about? Let us 110k at 2 few more examples.

CONSUMER:  The hardtop is green.
SOURCE: The car has a hardtop.
TRANSFORM: The hardtop which the car has is green.

CONSUMER: The assignment seems long,
SOURCE: The student has an assignment.
TRANSFORM: The assignmernt which the student has seems long.

~:‘ CONSUMER: Tom called the friend.
- SOURCE: The girl has a friend,.
: TRANSFORM: Tom called the friend whom the girl has,
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CONSUIZER: Mary knows the secret,
SOURCE: The boy has the secret.
TRANSFORM: Mery knows the secret which the boy has,

CONSUMER: Rod wrote the song.
SOURCE: The school has a song.
TRANSFCRIY: Rod wrote the song which the school has.

In each of the groupgrou probably noticed that there is 2 noun
phrase in the source sentence which is iike a noun phrac 2 in the
consumer sentence. Copy these graips of sentences akove and
draw circles around the ncung thai ar2 alike in each group,

Now look at the tranzforms in each group. In 2ach
transiorm underline ti's part that was the consumrer sentence.
The part that ig loft is the embedded gource sentence. What
part of the original source sentence remains in each case?

What werd has been replaced? Obviousiy the NP4 of each

source sentence has been replaced by which or whom (that

‘would also do). "Hardtop" is replaced in the first, assignment in
the second, fricnd.in the third, etc.

You probably remember why we are using whom in this step in-
stead of who, Vhen we were talking about question transformations
in which we replaced the object (NFP2) we said that in standard
English we use the form whom to replace the object word in a
sentence just as we use the form who to replace the subject
word. (In ""The girl has a friend.™ friend is the object NP2,

Since that is the word we replace, we will use whom.) We
use whom to replace Nhum and which to replace Nnok.

But where is the replacement located in the result sentence?
In every case the which or who was moved to the front of the
source sentence and then the whole source was placed right
after the NP of the consumer.

Exercige 1:

Copy the following have sentences leaving two spaces
after each, Rewnrite each gentence replacing the NP
with whom, which or that. Be able to explain why you
made the choice you did. Rewrite the sentence a sec-
ond time, moving the whom, which or that ahead of

the subject NP,

Example: The boy has a ball.—==)

The boy has which —=———
which the boy has

1. The announcer has the script.
2. The cat has whiskers.
3. A man has a home.
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4, The boy has a father,

5. The team has the trophy.
6. I have a friend.

7. The boat has a sail,

8. The class has a captain,
9. Jeanette hias a doctor.
10. Cindy has 2 smile.

Now let's write the linguisiic sirings for have sentences
and for consurer gentences involved in this embedding process
and finally for the Transform which resuits from embedding
one in the other.

The have source semiences can be represented in this way:

2
SOURCE: NPLl+ Aux+ have® NP

When we use symbols to represent the consumer sentences
ail we care about is the noun phraee which is like NP2 of the
scurce sentence, because that is all that is involved in this
transformation. We don't care what comes before it or what
follown it. So w2 can indicate it in this way:

CONSIJT&ERS X I\TP o3 @

We found that the who, whizh or that moved to the front
of the source santence before ¢ was embedded and then the
wtsle source was placed right after the NP of the consumer.

The hardtgpvi:;t:;‘._g_ green.

Thersfore we can uga the following linguistie symbole to gshow
the result of this embedding of have sentences: (We will use
NPS to indicate the subiect NP of the exabedded source.)

SOURCE: NP+ Aux+ have+ sz}-:%
CONSUMER: ...NP...
inom ox which

W
TRANSFCRM:., ...NP+ { that + NP8+ Aux+ have..

Exercige 2:

Embed the have sentences of the following pairs into
th2 consumes semences. Remember that you must
first replace the NP2 of the have sentencg with whom,
which, or that and place it in front of NP~ before you
can embed the sentence,

Example: I borrowed the book, ==§
‘Tom has a book,

I borrowed the book which 7 1m has.
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A, 1, He got the part.
I havé the part} %

2. That job was excellent. ....;
The man ha8 the job.

3. The trouble was annoying
The teacher had trou 1e° %

4, Nobody likes the sister. } %

The boys have a sister.

5. The cdaughter ig in Athens, ﬁ
The president has a daughter.

Mary has a party.

7. We nave called the doctor. %
The company has a doctor.

6. We wiil go to the party.} ._._.$

8. The father met the teacher.
The boy has a teacher. j

B. 1. The clegs will be doing the asgignment, =
They have an assignment. }

He has a combination,

3. We like the friend. }, .
Mary has a friend. ?

4, The shoes hurt, #
Fred has the shoes,

5. The gardener had stolen the money:}, ,%

2. Jeremy has lost the combination.} %

The Moores have a gardener.
John had a bat.

7. He wrecked the car. ::}
Father has a car.

8. Ve had recognized the twin.} %

6. The bat had a gallstone, } %

Paul has a twin,

When we embedded Be sentences, we discovered that it
was poseible to make a Sécond transforimation,
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The boy is the oldest ___%
The boy is tall

The boy who is tall is tho oldesi-.-:}
The tall boy is the oldest.

We might want to ask if there is a second transformation pos-
sible when we embed with have sources. In the Be embedding,
the second iransform shorteaed the source sentencs. Letls
see if we can do the same thing with have sources. We will
use the examples we used before. Is it possible to do the

following ?

The hardtop which the car has is green.

The hardtop ihe car nas is green.

The assignment which the student has seems long. =)
The assignment the student has seems long.

Tom called the friend whom the girl has. =
Tom called the friend the girl has.

Mary knows the secret which the boy has.
Mary knows the secret the boy has.

Rod wrote the song which the school has. ===
Tom wrote the song the school has.

What has been climinated in each of these iransforimaiions?
Let us express this transformation in linguistic symbols.

We started with the Transform which was the result of embed-
ding a have sentence and eliminated the whom, which, or that.

whom or which
.. NP+ ( that }+ NP°+ Aux+ have... =2}
.

...NP+ NP®+ Aux+ have...

Exercise 3:

Copy the foilowing pairs of sentences. Perform the two
kinds of have embedding. That is, firgi embed ke entire
source sentence and then rewrite it, eliminating the
whom, which or that.

Example: We found the ’oillfold} ..__>

Frank hz2s a billfold.

We found the billfold which Frank has.*::?
We found the billfold Frank has.




A, 1. Ned hit the zooster.
The farmer has a rcoster.

2. The wallet must have {allen in the lake.
Gordon has a wallet.

3. The plane is landing in Portland.
The president has _. plane.

4, The quarierhack carried the bail.
South bas a quarterback.

%. The aunt is an aciress ,
G2orgia has an aunt.

6. The subscription wiii expire.
I have a subscription.

B. The fsllowing sentences are the results of having
gone through the two transformations of have embedding.
Try to write first the transformed sentence that im-
mediately preceded each and then the two kernel sen-
tences from which the two derived.

Example:
The company designed the *rumpet the boy has.
from
The company designed the trumpet which the boy has,
from

The company designed the trumpet.
The boy has a trumpet.

The dog buried the bone the cook has,

The propellor the plane has fell off.

The mouse John has was spotted,

The glasses the man has are on his nose.
The agent the actor has will come tomorrow,
. The shell the turtle has .is exterior.

G’)U‘lzhw(\?h‘

There is one more step in the transiormation of thig
kind of sentence., Is there a close relationship between
the following pairs?

The job the man had was excellent.
The man's job was excellent.

The hardtop the car has is green.
The car's hardtop is green.

The assignment the student has seeme long.
The student’s assignment secems long.

Tom calied the frisnd whom the giri has.
Tom called the girl's friend.
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Mary knows the secret the boy has,
Mary knows the boy's secret.

Rod wrote the song the schooul has,
Rod wrote the scheol's song.

What changes have taken place in the first seatence of each
pair to produce the 2nd? In avery case ihyee things happened.

i. All but the NEZ of the embedded source was cut out.

2. The NPS became the T of the NP in the consumer sentence.

3. The NPS also changed its form. (tv.@y:% boy's)

Mary knows the secret the boy has. «-—_-_-}
Ma.y knows the boy's secret.

We call the form of nouns in this last step the possessive
form. It is nsually formed by adding an g sound, There are
several things to remember here.

1. ¥ the possessive noun ig singulay (like boy, man, car,

ete, ) it is written by placing an apostrophe between
the noun and the g. (boy's, man's, cur's)

2. If the noun is plural the apostrophe is placed afier
the g sound of the plural noun. (boys', cars', houses').

What happens if we have a plural noun without an s ending
{men, children, sheep)? In this case we add the apostrophe
afier the plural form and then add an g to give the word the 8
sound of the possessive form {men's, children's, sheep's).

Can we symbolize this possessive transformation? We
found that the possessive form of the NP of the source replaces
the T of the NP of the consumer _The possessive form has 's,

Thﬁb@ has is excellent."::?

The man’s job is excellent.

If we write the NP of the consumer as T+ N+ NO we can
show what happens.

.. T+ N+ NO+ N Aux+ have...::%
LLNPE+ g + N+ NO...
Exercise 4:

A, Copy the following nouns and try to write their
plural forms. In case of doubt consult your dictionary.




-]~

man book trainer
woman fich voter
child fox mink
car baby butterfly
dog grandfatber cook
tree uncle typist
teacher terrier skier
singer mouge louse
mailman star pony

B, Write the possessive form for both the singuiar
and the plural nouns in A,

In phrase structure Rule (13) we said that pronouns such

as 1, he, you, etc., were forms of nouns. Therefore we might
expect to have pronouns in some of our NP positions. In the
sentence "'The assigninent he has seems long. He is the embed- .
ded NP* of the source sentence "He has the asSignment." If
we want to eliminate the rest of the words of the source sen-
tence and make he possessive, what form will it take? We
couldn't gay "Héassignment seems long." But we could say

His assignment seems long." All the pronouns have a special
form to show possession,

I becomes my

she becomes her

he becomes ™ ?

it becomes ?

we becomes__?
you becomes__?
they becomes__?

Now let!s put together ail of the operations involved in
embedding hzve sentences and write a final rule. We begin
with two sentences, a consumer and a have sentence which
is the source,

O..NPI.. Q
NP+ Aux+ have+ NP?¢

The NP? of the source is changed to whom, which, or that
and the source sentence is embedded in the consumer.” (What
happens to the position of the whom, which or that?)

whom or which
...NP+ thot + NP®+ Aux+ havet ...

Then the whom , which or that is eliminated.

c..T+ N +1N° + NP®+ Aux+ have...

The finel step is to write the NP of the consumer as T+ N+ NO,
Then the NP of the source becomes the T, adds the sign of the
possessive, and the rest of we source is deleted, leaving

...NPS+ g+ N+ N°, . .
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The rule, then,will look like this:
.OONPOOO
NP+ Aux+ have+ NPZ}%
whom or which .
...NP+ that + NPS+ Aux+ havet -.-.?;7
L..T + N+ N°+ NPS+ Aux+ havet ... :-:..5

...NP8+ g+ N+ N°,,.

—
Remember that the form of the NP8 + s will depend on whether
the NP is a pronoun or not, and whether i} is sirgular or plurai.

Exercise 5:

A, Copy the following pairs cf sentences. Carry them
through the three operations of embedding & have sin-
tence so that you end up with the possessive Torm,

Example: James carried the books.)
The girl has the books, | ;

James carried the books which the girl has, :_-§
James carried the books the girl has. ‘%
James carried the girl's books.

1, The phone book is large,
Eugenz has a phone book.

2. The lunchroom is crowded.
Roosevelt School has a lunchroom.

3. The gun shoots accurately,
The man has & gun,

4, They learned the motto.
The Girl Scouts have a :notto.

5. Ve admire the teacher.
We have a teacher,

6. Mary rode the horse.
Jack has a horse.

7. Thieves stole the tricycle.
The child has a tricycle.

8. The sprain was severe,
The halfback has a sprain,
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g, ‘The man saw the Iish,
The bear has a fish.

10, The party lasted three hours,
The class had a party.

B. Write the underlying sentences for the following. That
*g, trace each one back to the original kernel sentences.

Example: The boy's tooth was aching,

from

The tooth the boy has was aching,
from

The tooth which the boy has was aching,
from

The tooth was aching.
- The boy has a tooth.

The car's top is black.

The boy found the chipmunk!s nest in the tree,

The studentis record is excellent.

Ted has brought the cat's cage.

He accepted his responsibility reluctantly.

The pupils admired their teacher.

The cheerleaders! uniforms will be arriving tornorrow.
I must hav= been puzzling my friends.

George's costuine wiil be hilarious,

10. Biil has been visiting Jane's cousin,

C. Write the linguistic string for the sentences in B
above.

Example: PS8+ g+ N+sirg+ past+ be+ iug ;}TI
The boy's tooth was acﬁing

D, Write the linguistic strings for the kernel sentences
and the three transforme for numbers 1, 3, 5, 7, and § of A.

Example: ...NP...

James carried the Books.

Np + Aux + have +//N\P2 ""'"___""_>
Th/>i k the kooks.

...NP < which + NP® + Aux + have.

=

James carried t}\;hoks w\hich t‘z\irl ha

c.WTHENF N 4 N:PS+ Aux ‘ave
\
Carmes carriedthe Books the g1r1 has

O
... NP2 + g ¢
James carried the girl's books
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TL Ren?ember:

1. The possessive in English sentences is the result of the following
process.

a. A sentence of the form N + Aux + have + NP2
is embedded in anoéher sentence which has an NP
identical to t..e NP“ of the source.

L

The ball is red.
The baby has a ball.

When the source is embedded the NP? is replaced by who or
which (or that) and moves to the front.

The ball which the baby has is red.

c. All of the source except the NP is deleted; an 's is addedj —;
and the NP becomes the determiner of the NP of the P

consumer,
The baby's ball is red. =
2. The possessive form of nouas has 's.

3. Personal pronouns have special forms for the possessive. 3
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